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ISMG4500 Exam 2 Answers (15%)

Name: 
General Instructions:

This exam contains 18 questions on 6 pages.  This exam is an open book exam.  You have 75 minutes to complete the exam.  Please plan your time accordingly. Each problem is equally weighted. Use the provided scannable form to enter your answers.

Unless otherwise noted, you should use the Financial Planning database (shown below) in answering the exam questions.  This database was posted on the class website. In the table definitions below, the primary key of each table is shown in bold face.  Foreign keys are shown in italics.

customer(custno, name, address, city, state, zip, phone, income)

asset(assetno, assetdesc, assettype)

service(servno, servdesc, servrate)

employee(empno, empname, emptitle)

pricehistory(assetno, date, price)

FOREIGN KEY assetno REFERENCES asset

charge(chargeno, custno, servno, starttime, endtime, empno, billed, amtpaid)

FOREIGN KEY custno REFERENCES customer

FOREIGN KEY servno REFERENCES service

FOREIGN KEY empno REFERENCES employee

holding(custno, assetno, qty)

FOREIGN KEY custno REFERENCES customer

FOREIGN KEY assetno REFERENCES asset

trade(tradeno, custno, assetno, qty, price, date, type, status)

FOREIGN KEY custno REFERENCES customer

FOREIGN KEY assetno REFERENCES asset

1. This problem involves the following CREATE VIEW statement and UPDATE statement. 
CREATE VIEW CO-CustomerView AS

SELECT CustNo, Name, Phone, Address, City, State, Zip, Phone
 FROM Customer

 WHERE State IN ('CO', 'CA')

INSERT INTO CO-CustomerView (CustNo, Name, Phone, Address, City, State, Zip)

VALUES('C10', 'joe smith', '(303)556-6432', '1234 big street', 'denver', 'CO', '80217')

If Customer.Income is a required column with a default value, the above INSERT statement

a. does NOT insert a row into the Customer table because the Income value must be provided.

b. inserts a row into the Customer table if the values in the VALUE clause do not violate an integrity constraint of the Customer table.

c. does NOT insert a row into the Customer table because the Customer table does not support view updates.

d. updates a row in the Customer table if the CustNo value in the INSERT statement matches the CustNo value of an existing row in the Customer table.

Answer: B (moderate)
Choice A is not correct because the default value provides a value for the Income column. Choice D is not correct because the INSERT statement on a view is translated to an INSERT statement on the associated base table. Choice C is not correct because updatability is a property of a view not a table.
2. This problem involves the following CREATE VIEW statement and UPDATE statement. 
CREATE VIEW CO-CustomerView AS

SELECT CustNo, Name, Phone, Address, City, State, Zip, Phone
 FROM Customer

 WHERE State IN ('CO', 'CA')

UPDATE CO-CustomerView

 SET City = 'Boulder'
 WHERE CustNo = 'C10'
If Customer.Income is a required column without a default value, the UPDATE statement

a. does NOT update a row into the Customer table because the Income value must be provided.

b. does NOT update a row into the Customer table because the Customer table does not support view updates.

c. updates a row into the Customer table if the new City value does not violate an integrity constraint of the Customer table and CustNo “C10” exists in the Customer table.

d. inserts a new row in the Customer table.

Answer: C (easy)
Choice A is not correct because UPDATE statements do not need to provide all required columns. Choice B is not correct because updatability is a property of a view not a table. Choice D is not correct because the UPDATE statements do not insert rows.
3. This problem involves the following CREATE VIEW statement and SELECT statement. 
CREATE VIEW CO-CustomerHoldingView AS

SELECT Customer.CustNo, Name, Phone, Holding.Qty, Asset.AssetNo, AssetDesc, AssetType

 FROM Customer, Holding, Asset

 WHERE State IN ('CO', 'CA') AND AssetType = 'Stock'
      AND Customer.CustNo = Holding.CustNo AND Asset.AssetNo = Holding.AssetNo

SELECT CustNo, Name, Phone, AssetNo, AssetDesc

 FROM CO-CustomerHoldingView

 WHERE CustNo = 'C10'
To process the SELECT statement, the SQL compiler will

a. execute the SELECT statement in the CREATE VIEW statement and then execute the SELECT statement using the materialized view.

b. modify the FROM and the WHERE clauses of the SELECT statement and then execute the modified SELECT statement.

c. display an error message because CO-CustomerHoldingView is not a base table.

d. execute the SELECT statement only if the CO-CustomerHoldingView has been materialized previously.

Answer: B (easy)
Choice B (view modification) is the normal process used by SQL compilers to process queries that use views. Choices A and D (materialization) are used by SQL compilers for complex views and data warehouses.
4. This problem involves the following CREATE VIEW statement. 
CREATE VIEW CO-CustomerHoldingView AS

SELECT Customer.CustNo, Name, Phone, Holding.Qty, Asset.AssetNo, AssetDesc, AssetType

FROM ( Customer INNER JOIN Holding ON Customer.CustNo = Holding.CustNo ) 

             INNER JOIN Asset ON Asset.AssetNo = Holding.AssetNo

 WHERE State IN ('CO', 'CA') AND AssetType = 'Stock'
Using the rules for 1-M updatable queries, the CO-CustomerHoldingView

a. supports INSERT operations on the Holding table.

b. supports INSERT operations on the Customer, Holding, and Asset tables.
c. supports INSERT operations on the Holding and Asset tables but not on the Customer table.

d. does not support INSERT operations on any base table.

Answer: D (moderate)
The view does not support insert operations on any table because the rules for 1-M updatability specify that the query result must include the primary key of the child table.
5. This problem involves the following CREATE VIEW statement. 
CREATE VIEW CO-CustomerHoldingView AS

SELECT Holding.CustNo, Name, Phone, Holding.Qty, Holding.AssetNo, AssetDesc, AssetType

FROM ( Customer INNER JOIN Holding ON Customer.CustNo = Holding.CustNO ) 

             INNER JOIN Asset ON Asset.AssetNo = Holding.AssetNo

 WHERE State IN ('CO', 'CA') AND AssetType = 'Stock'
Using the rules for 1-M updatable queries, the CO-CustomerHoldingView

a. supports INSERT, UPDATE, and DELETE operations on the Holding table and only UPDATE operations on the Customer and Asset tables.
b. supports INSERT operations on the Customer, Holding, and Asset tables.
c. supports INSERT operations on the Holding and Asset tables but not on the Customer table.

d. does not support INSERT operations on any base table but supports UPDATE operations on the Holding, Customer, and Asset tables.

Answer: A (moderate)
The view supports manipulation statements on the Holding table because the view contains the primary key of the Holding table. The view does not support INSERT operations on the Asset and Customer tables because the query result does not contain the primary keys of these tables.
6. This problem involves the following CREATE VIEW statement. 
CREATE VIEW CO-CustomerHoldingView AS

SELECT Holding.CustNo, Name, Phone, Holding.Qty, Holding.AssetNo, AssetDesc, AssetType

FROM ( Customer INNER JOIN Holding ON Customer.CustNo = Holding.CustNO ) 

             INNER JOIN Asset ON Asset.AssetNo = Holding.AssetNo

 WHERE State IN ('CO', 'CA') AND AssetType = 'Stock'
According to the definition of 1-M updatable queries, in the CO-CustomerHoldingView,

a. Holding and Asset are the child tables and Customer is the parent table.

b. Holding and Customer are the child tables and Asset is the parent table.

c. Holding is the child table and Customer and Asset are the parent tables.

d. there are no 1-M relationships.

Answer: C (moderate)
This query contains two 1-M relationships with Holding the child table in both relationships and Asset and Customer the parent tables.
7. This problem involves the following CREATE VIEW statement. 
CREATE VIEW CO-CustomerHoldingView AS

SELECT Holding.CustNo, Name, Phone, Holding.Qty, Holding.AssetNo, AssetDesc, AssetType

FROM Customer, Holding, Asset

 WHERE State IN ('CO', 'CA') AND AssetType = 'Stock'
      AND Customer.CustNo = Holding.CustNo AND Asset.AssetNo = Holding.AssetNo

In Microsoft Access, the CO-CustomerHoldingView

a. supports INSERT operations on the Holding table and UPDATE operations on the Customer and Asset tables.
b. supports INSERT operations on the Customer, Holding, and Asset tables.
c. supports INSERT operations on the Holding and Asset tables but not on the Customer table.

d. does not support INSERT operations on any base table.

Answer: D (moderate)
This query does not support INSERT operations on any table because the cross product style is used. Access requires the usage of the join operator style for 1-M updatable queries.

The Outstanding Customer Charges Form is used in a number of problems in the remainder of the exam. The Outstanding Customer Charges form only supports services provided by an employee. Services provided through the web are accumulated through server logs and a batch program to update the Charges table. 

The main form contains the customer data and the subform contains the charge data.  The subform lists only unbilled charges and billed charges not paid in full. A charge is not paid in full if the amount paid is less than the amount owed. The amount owed is the total charges minus the amount paid. The total charges are the number of fractional hours of service provided times the service rate. The number of fractional hours is the difference between the start and end times in tenths of an hour. In the example form, both customers owe the full amount as no payments have been received.
	Outstanding Customer Charges Form



	Customer Number:
	C100
	Name:  Joe Smith

	Address:
	5624 42nd Street
	City:
	Seattle
	State: WA

	Phone:
	(206) 444-4444
	Zip:
	98105

	Charges

	Charge No
	Service No
	Rate
	Start Time
	End Time
	Emp No
	Amount

Owed

	C101
	S101
	$50
	6-Oct-2003 12:30PM
	6-Oct-2003 2:45PM
	E1
	$112.50

	C102
	S101
	$50
	9-Oct-2003   1:30PM
	9-Oct-2003 3:00PM
	E1
	$100.00

	Total Charge Amount: $212.50


8. This question concerns the hierarchical form for recording charges (Outstanding Customer Charges Form). 

The primary key of the main form is  
a. Charge No

b. Customer No

c. Name

d. the combination of Customer No and Charge No.

Answer: B (easy)
The main form contains only columns of the Customer table. Thus Customer No is the primary key of the main form.
9. This question concerns the hierarchical form for recording charges (Outstanding Customer Charges Form). 

The linking column in the subform query that connects to the main form is  
a. Charge.ChargeNo

b. Charge.ServNo

c. Charge.EmpNo

d. Charge.CustNo.

Answer: D (moderate)
The linking field in the subform is the Charge.CustNo because the Customer.CustNo is the linking field in the main form.

10. This question concerns the hierarchical form for recording charges (Outstanding Customer Charges Form). 

The main form query contains columns from the
a. the Customer and Employee tables.
b. the Customer and Charge tables.
c. the Customer table only.
d. the Customer and Service tables.
Answer: C (easy)
All fields in the main form come from the Customer table.
11. This question concerns the hierarchical form for recording charges (Outstanding Customer Charges Form). 

The subform query contains columns from the
a. the Charge table only.
b. the Charge and Service tables.
c. the Charge, Service, and Employee tables.
d. the Customer and Charge tables.
Answer: B (moderate)
All columns in the subform come from the Charge and Service tables. The Service table provides the Rate field.
12. This question concerns the hierarchical form for recording charges (Outstanding Customer Charges Form). 

In the subform, Access performs auto lookup for 
a. Service No.

b. Charge No, Service No, and Emp No.

c. Service No and Emp No.

d. Charge No and Emp No.

Answer: A (hard)
Service No and Emp No correspond to foreign keys in the Charge table. Since there are no other fields from the Employee table on the subform, auto lookup does not apply to Emp No. Charge No corresponds to the primary key of the Charge table so autolookup does not apply.
13. For a form field that is updatable in a subform query but read-only in the subform, what Access property(ies) must be set to ensure that a user cannot obtain focus on the form field and cannot change its value. 

a. Enabled property set to Yes, Locked property set to Yes
b. Enabled property set to No, Locked property set to Yes
c. Enabled property set to No, Locked property set to No
d. Enabled property set to Yes, Locked property set to No
Answer: B (easy)
Setting Enabled to No restricts changes to the field. Setting Locked to Yes prohibits focus on the field. These properties should be set in combination so that a user will not be confused.
14. This question concerns the hierarchical form for recording charges (Outstanding Customer Charges Form). 

When using the form in update mode (viewing existing records), after the user enters the value of an existing customer number in the main form,
a. Access generates the values of the other Customer fields in the main form.
b. Access generates an error message after the user scrolls to another main form record because the Customer already exists.
c. Access generates the values of the other Customer fields in the main form and the related subform records.

d. Access does not generate the values of other Customer fields in the main form and no error message is generated when the user scrolls to another main form record.

Answer: B (hard)
For form fields corresponding to primary keys, Access requires unique values. Access does not support retrieval of form instances when an existing primary key value is entered.
15. This question concerns the hierarchical form for recording charges (Outstanding Customer Charges Form). 

In the main form and subform, combo boxes are NOT good choices for controls for what field?
a. Customer Number

b. State

c. Service No

d. Emp No

Answer: A (hard)
Combo boxes are good choices for foreign keys. Thus, Service No and Emp No should use combo boxes. Combo boxes also are good choices for fields with a small set of values such as the State field. Because customer number is the primary key of the main form, it should not be used with a combo box.
16. This problem involves the following CREATE VIEW statement and SELECT statement. 
CREATE VIEW CO-CustomerHoldingView AS

SELECT Customer.CustNo, Name, Phone, Holding.Qty, Asset.AssetNo, AssetDesc, AssetType

 FROM Customer, Holding, Asset

 WHERE State IN ('CO', 'CA') AND AssetType = 'Stock'
      AND Customer.CustNo = Holding.CustNo AND Asset.AssetNo = Holding.AssetNo

SELECT CustNo, Name, Phone, AssetNo, AssetDesc

 FROM CO-CustomerHoldingView

 WHERE CustCity = 'Denver' AND AssetDesc LIKE '*IBM*'
To execute the user’s query, the SQL compiler will NOT
a. Substitute Customer, Holding, Asset for CO-CustomerHoldingView in the FROM clause.

b. Execute the modified query after the modification process completes.
c. Replace the WHERE clause in the view’s SELECT statement with the WHERE clause in the user’s SELECT statement

d. Using the AND operator, append the conditions in the WHERE clause of the view’s SELECT statement to the conditions in the WHERE clause of the user’s SELECT statement

Answer: C (moderate)
Query modification involves substitution in the FROM and the WHERE clauses. In the FROM clause, the view name is replaced by the tables in the FROM clause of the view’s SELECT statement. In the WHERE clause, the WHERE clause of the query is appended with the AND operator to the WHERE clause of the view’s query. The SQL compiler will execute the modified query after completing the modification process.
17. The ability for a DBMS to support updates for multiple table views is important because 

a. users like to use query output for updating base tables.

b. view updatability complements view modification.

c. development of hierarchical forms would require significantly more coding if the DBMS did not support updatability for multiple table views.

d. form layout is simplified.
Answer: C (easy)
Choice C is correct as hierarchical form development previously required lots of coding. Multiple table updatable views are a key technology in reducing the needed coding.
18. Which of the following statements is NOT true about the modification process used by SQL compilers to process queries against views?
a. modification involves the execution of only one query.

b. modification involves substitution in the FROM and WHERE clauses.

c. modification involves a small level of overhead.

d. modification can always be used to process queries that reference views.

Answer: D (hard)
As depicted in some examples in textbook Chapter 10, modification cannot be used to process some view queries.
